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Final (100 peines)
CS 163: Data Structures
- ———— %

Email Address:

Please limit “short answer® questions to 1-2 sentences.

L. Short Answer (25 poinls) -- Limit your answers to 2-3 semences --

a} Explain the difference between the insert algorithin for a 2-3 ree vs, a 2-3-4 wee

b} Explain the benetfis of hash tables

¢) Compare and coatrast the efficiency of two sorting algorithms {of your choice) — include

execution speed as well as memory cuncerns in your answer

d} Explain the benefits and drawbacks of the AVL wee

) Explain how much memory is required o manage a 2-3-4 tee?

f) Explain how nmch memory is required to manage an AVL ree?



2. (25 points) Given the following dafa, draw the following trees:
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d) Deloe 30 trom the wee und draw the resulting 2-3 wree:

el 2-3-4 uee

t) Now, add 90 to the 2-3-4 ree - whar would the resulting ree be?
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